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s 26rey : 3.00 wanf) G | [ Qrés UGS : 70
Time Allowed : 3.00 Hours ] [Maximum Marks : 70

Sleyenraet : (1) Smandg cllamésenn sfwurs ufeurd e eTergm eramLSa FAUMT$gI&
QameTarayw. SiFaLILSND GepuidmLder Siewns samasTantumeriLLD
o Languirgd Cgflelsseywb. |
) Beob Sdeg smUY @wulamar wLHCW Gl'@gj@.l.é_f)fj)@m .
<@g 5CaT Heugh@Eh LLaTLHSS CoudmAh. ULBEH umrausHE
Guendléd LweTUHSS6LD. :
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

@AY : ugH-1 (2u9f-greureilwe), LGS -1 (euifl-cleondud) sallssal dam et
elen_wefl&EaLb.

Note : Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate
answer books.

L& - I (e_uf-greureiwed) / PART - I (BIO-BOfANY)
(HO@Quairser : 35) / (Marks : 35)

191fley -1/ SECTION - 1

@Ol : () Smensg elamss@EnéGh el weflésab. 8x1=8
(i) Qar@asiiul@erer HreNE wWrHm el safld Waab ehHyemLw
| alaLews Cab6sHSSl GO GLen eflen_ulevamyid Cairgg) eT(pseyLb.

Note : (i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.

[ ABUILS / Turn oyey
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suQulen efllLb 12 mEow, Ghedrellar ferb 10 kG wHDID GOlWEr
B&IHS SITD 5 SBGOWNS GmHsTe, Freursdar o amewwirer Bar eueriésludlenar
SeTLHlweib.

(@) 12 Smgon ()3 AmEed (@) 30 mED (/) 6 ARG

If the diameter of the pulley is 12 inches, length of pointer is 10 inches and distance travelled
by pointer is 5 inches, calculate the actual growth in length of plant :

(@) 12 inches (b) 3 inches (c) 30 inches (d) 6 inches

et safl _____ dmps e meurdpg,.
(1) L GOs Qe @a)a;u‘e;nu

(=) v Qevertirs @S @mé} GsLIenL
(&) v wepsf

(F) U QeanuTé Gos Qoo Goslimu
Aggregate fruit develops from :

(a) Multicarpellary ovary

() Multicarpellary, syncarpous ovary

() Whole inflorescence

(d) Multicarpellary, apocarpous ovary

S @LbEuwrTs safloib :
(o) rofud () urabLiyey (@). mBLTEgen () QumriLrdwibd
The element which is not remobilized :

(a) Calcium (b) Phosphorus (c) Nitrogen (d) Potassium
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Spssan aThy Ced peamammiy wallsaflar Cemppses UHGuEUL Qeiw
2 sai8lpgl ?

(21) ushsamfls0D (=) Camrerens 2 Leid

(@) @rGurGemd (/) enwl GLramarig Mwim

Which one of the following cell organelles is used to trace human origins ?

(a) Chloroplast (b)  Golgibody

(c) Ribosome (d) Mitochondria

SpssamcupmieT eThE ydsreaurearg sflepir asfafssde LwuaLBEDg ?

(1) omiGarflwm (=) 2 evCamicred
(@) GGerrGreeom (F) Quysev |
Which one of the following algae is used for sewage treatment ?
(a) Laminaria (b) Ascophyllum

(c) Chlorella (d) Fucus

Qmelsdeoe srarmsaisn @l AUCLIHED CaupHarors 2 6rerg. e @

AsSemas sreurtisaie ey Goma. ghaeamre, Qmelsdame sransae,

(<31) QUEETWILONE UTEL@GTT SHEDEET SiemHEHLILS) '

(=) &g Cabl@wd SewbdHLLS

(@) oses Gomi apsdr grupoanisd Qmbs ABSS (pmar amy Qeenig|
SiwhHmLILG ‘

() @rammd Hleva cueri&dldamer Gabl9wid SiemwbSlmILg,

Grafting is successful in Dicots but not in Monocots because the dicots have :

(a) Vascular bundles arranged in a ring |

(b) Cork Cambium

() Vessels with elements arranged end to end

(d) Cambium for secondary growth

[ wLiys / Turn over
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7.

aupa flog greuwrer gLeraglur-ade ereieuens Frmellts Gumsa srsHuib ?
(=1) Qovarmq Qe Frreds Cumrse,

(=) Sl g dlar Brredill Curds

(@) Bowsgin frredl Gurie

() Cupamblu everdg)id

What type of transpiration is possible in the Xerophyte Opuntia ?

(a) Lenticular

(b) Cuticular

(0 Stomatal

(d) Al the above

aflECarsems qaflellenamnier sflwrer sphleears ser_is.

(<=1) PSI -en eflanan anwowiomer LiFenguwild ‘a’ -ullen gefl Frifliy 2 F&b 680 nm <gy@Lb.

(<) g@eflert B LGy PST 2 Ler Ggm_yepLwg.

(@) PSII -én eflenar enowiomer LFmaWLD ‘a’ -ar @elfl Fifly 2 &8 700 nm 4 GLb.
(/F) PSTopmid PS II <y dluieneu NADPH+H+2_@aJrr§eﬂd) WAL ngeﬂmg..
Identify the true statement regarding light reaction of photosynthesis.

(a) The reaction center of PS I is chlorophyll ‘a’ with absorption peak at 680 nm

(b) Photolysis of water is associated with PS I
(c) The reaction center of PS II is chlorophyll ‘a” with absorption peak at 700 nm

(d) PSIand PSIIinvolved in the formation of NADPH +H*




Sifley - 2/ SECTION - 2
@O : sTemeuGEID Brewe eflammis e, eflenL_weflgse,Lb. |
Note:  Answer any four questions. '
9.  wrawdud LHHD WiEsTOR@LEG Coupupsgs.

Differentiate - dendrochronology and dendroclimatology.

10. eeradar e ulyHy LT s CseyLD Qramgemen 6r(ps)s.

Write any two non-living characters of virus.

11. ‘Samidled’ — euenrumsseib.

Define - ‘Synapsis’.

12. s@gLULDMIETET FreufhseTe) &Feurs mrey UL L@uID. eer ?

Respiratory quotient is zero in succulent plants. Why ?

13. &pssam_ecupinE soEQsTHHET S(Hs.
(=) @M aueToHD WEFHS SreT
(%) WETHS STETEET R SLLITE QOMDS DETHS STETEET
Give the technical terms for the following :
) Asiedle s

(b) Stamens are united in one bundle.

14, Bl Hpeans s HLUESSD FMMSET WTME ?

What are the parameters which control Water Potential ?

4x2=8

[ Hprys / Turn over
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Yifley - 3/ SECTION - 3

G@iuy : steneuCwignd e aS]GbTrrésa;@é;@ QS]GG)LUJQﬂéS&SQ_]Lb.‘QS]GGTW eramr 19 -&@

SL_L_MLLONE el wefgsayb..

3x3=9
Note : Answer any three questions, Question No. 19 is Compulsory.

135,
16.

17.

18.

19,

GO : Siemenss oflanmés@niEih flenL_wefsayib.

Bt 2a1L& euaririiyy DADVDG) eTanilcreor euermiy updl Ay @AY er(PsIs.
Write short notes about Hydroponics or soilless culture,

Geuflen LgHasener LILLD UDTHS LTshismens @hése,Lb.

- Draw and label the parts of regions of root.

epopwigw CaSL 2 W eumpsamss FPEE @I 6L Lol Ul Gl 2 uifl eumpéamss
spallallmhg CaunuBsss.
Differentiate - haplontic and diplontic life cycle.

Bflen Laim semer er(pgs.
Write the properties of water.

2 Lsmellen Lanflseer er(ipg)s.
Write the functions of Nucleus.

\9fey - 4/ SECTION - 4 |
2x5=10

Note : Answer all the questions. :

20.

21.

.(b) Give a general account on lichens.

(=1) Svellud &ur sraursems smossmhaeme efleuf&aeyib.
VT

(<) DNA -eflér ApriQwdysener T (LS.

(a) Write the botanical description of Allium cepa.
OR

(b) Write the characteristic features of DNA.

(1) Slyiia spoHSlieoen elaréEs. (alamssn (Sidug) QUETLIL L)
S|6V608)

(<) @assasaien CUTglILGT smer 6r(pg)s.

(a) Explain the Krebs Cycle. (Explanation (or) Flow Chart) -
OR
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LGS - I (2-ulfl-eNevruduwied) /PART - 11 (BIO-ZOOLOGY)
(w&ICILeTaseT : 35) / (Marks : 35)

Yfley - 1/ SECTION - 1
@olly: () imenss elemEsEps@n elenwelsseib. : 8x1=8
(i) Osr@ssuulBerer Brem@ wrpm e salld Bsab FhyemLiw
deoLows Csrp0s0sas GASLOLa aL@manyb Geigg

T(PSayLD.
Note : (i) Answer all the questions.
(i) Choose the most appropriate answer from the given four alternatives and write

the option code and the corresponding answer.

1. SamGLrélymd erenLig) Spssa e Lam samend Qaram@erarg ?

(1) auerauTLigwed wHmD OFTELiLmeduD

(<) e LpElswaued whmb o ufi Gmg’luﬁ]m’v

(@) Qsed wHMID HaeSwed

(7) uflewrmo wHMID WwrLeuLf

Which of the following characters does a cladogram have ?

(a) Taxonomic and Systematic '

(b) Physiological and Biochemical

() Cell and Histology

(d) Evolutionary and Phylogenetic

2. 2liysdHmen eraLig) :
(=1) erepdlu Qarereareiay + Qeuefgsmeurs Callliyg Qsmerarerey
() éasasmHn ete) + 2L saurs Callliys Qararerereay
(8) wpsssammm <ete] + o L seurs Cellliys Gamereraray +
Qeveflégeurs Gl Qarerarerey

(7)) epssssTdm erey + Qeuefidaeurs Callliyg Qamereraray
Vital capacity is : '

(a) Residual Volume (RV) + Expiratory Reserve Volume (ERV)

(b) Tidal Volume (TV) + Inspiratory Reserve Volume (IRV)

(c) Tidal Volume (TV) + Inspiratory Reserve Volume (IRV) +

Expiratory Reserve Volume (ERV)

(d) Tidal Volume (TV) + Expiratory Reserve Volume (ERV)

\ [ ﬁ@lllufﬁ / Turn over
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3.  Gsryuy Qeforargder wpse iy :
(1) erdedsdr G o Ardsse
(<) ureTEE®
(8) <igCumey Hasseiiey Calliiy
() Qprdl Qeweur®
First step in digestion of fat is :

(a) Absorption by lacteals
(b) Emulsification

() Storagé in adipose tissue
(d) Enzyme action

4.  CurGLrers Bser srawriiL@eug :
(=) Qpesliprefen spsgL U@Q‘;u_fﬂd)
(<) Querorafien SHawen QeuahFseaufe
(8) Setmomert @rés mlewrprerhiseflen seufle
() Quemorafler Hamenr o Heoufled
Podocytes are the cells present on the :
(a) Neck of nephron ‘
. (b) Outer wall of Bowman'’s capsule
(c) Wall of gldmerular capillaries
(d) Inner wall of Bowman'’s capsule

5. oGumet sobs o0y g 5556 wEHLL LksTHpADg.
i) =i () MEGsad
(@) 26CTTEwsme ()., vl
Jodised salt is essential to prevent :
(a) gottre (b) rickets
() acromegaly (d) scurvy
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6. o awTiiEd (l,osmn Gram JiMPESLILIGeuS) 6rg) ?
(1) @apuiGurgaeroe (<) @arid

(@) srruCGurgm Gaur_fQgflem () Slblé werrLeid

Which is called as “Emotional brain” ?

(a) Hypothalamus (b) Medulla oblongata
- (¢) Corpora quadrigemina (d) . Limbic system
7. &Dm  : seelluply em @rrefls CoafyLer ue ey Coatbser LGS

Qaogib em Apriurear LDSSE HlEDe| 2 ELD.
smpewid @ @pranfly Caal SQUCTTGLomar eTayd apmiGomer Caudi@ummeen
- 2 Husd Celdlang. el g o drar e Csatsser
0 QUGTTGLTaTd Saurtul () Yemiéd per Qumdems.
(21) spmIb Snyewrpd &M wHmb shwrs Qg,nLﬁqu(b\gg,uuL@dng

(<) SaDmID SMFewT(WD &l e geamiLer e sflwrs Qg,rrurqu@g;g,uul_-
aflevena

(8) FapmID STTETTI(WLD SeUD LHHILD &rﬂu_uré; GarLruBssIuLeldame

() Sapmud STFETT(HLD gaum e sHwrs G]ganqu@gg,uul_@mmm

Assertion : Nuptial flight is a unique flight taken by the queen bee followed by several
drones.

Reason : The queen bee produces 3 hormonal chemical substance called pheromone..
The drones in that area are attracted to the pheromone and then méﬁng '
takes place.

(@) Assertion and reason are correct and related.

f (b) Assertion and reason are correct but not related.

o

() Assertion and reason are incorrect and not related.

(d) Assertion and reason are incorrect but related. .

s/ el

e e da— R W



; 8. asrrthurrs%r' Y&AGer urrereuuler euans «

(=1) Qurenss

(1) @Dﬁrﬂmwmm .

(@) sruuren l,_{,a:eﬂufﬂa) unﬁmm 5rravruu®m§lwma).

() @m ulﬂLorramTLo

The type of vision in cockroach is :
(@) Mosaic

(b)) Three dimensional
() Cocktoaci\ d§eS not have visioﬂ

(d) .Two dimensional

L‘Fhﬂcq 2 /SEC’I‘ION 2

Sy : asmm@mgum TB6vI(E,) aﬁlmrra;a;@a;@ aﬁlml_umﬂs&'mm

Note : Answer any four questlons it ekl

9. QuLiie GrsierrQ;,cﬂj)u@ﬁp_gﬂ P

How is tetany caused ?

10. geueerde STETILED Haurs eapaaar TPBIE.

Write the types of respiration seen in frog.. - ) AL & :'

. 4x2=8
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12.

13.

14.

11 |

Lwer mb urdeflwreney Comyysd Hrsefluraldioig Canu@sss.

Differentiate between probiotics and pathogenic bacteria.

stoprang préWmHE apéss GYrew oLl L 2 YUILSMETS SLHg)
Qerdlpg). Seueypliysefer Quismer auflesiuHég)s.

Air, moving from the nose to the trachea, passes through a number of structures. List the
order of the structures.

waligaflar upGSSTEDE HHS.
Write the dental formula of human.

&LIT QFDOEET TeTmmred crevmen ?

What are flame cells ?

9fley - 3/ SECTION - 3

Gy : Grémsu(Bu.lgl.b e eflamésEnéE eloweliEsen. elemm oram 19 -&@

SLLmuwng eleLwellésa). 3x3=9

Note : Answer any three questions. Question No. 19 is Compulsory.

15.

16.

17.

Qeusrenar 2jgLiGUTeD Sseeu Ll SigliGue Haedlemba) CaumuBss1s.

Differentiate white adipose tissue from brown adipose tissue.

BRLTEN HTOBOLEMET Graeumy SETHlued ? eraaGuLeib Grer sropoL
Crrisemard GHILIEHE.
How will you identify Healthy Cattle ? Name any two cattle diseases.

@Qsw gdlser cramprad eranen ? e UGS HMID eriiug o el méaHL-

u@&lemmen ?

What are the heart sounds ? When and how are these sounds produced ?

[ g(@ﬁ“_l& / Turn over
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18. o ffare) smrQL_sellen DHE@Esmerd DI FLILIEETLLD GNU9[Hs.

Name the Layers of Adrenal Cortex and mention their Secretions.

19. ea(hEUY @SSMDITESEMET La(HSaLIL Ruprsmverasaiambg Copbs8is.

Differentiate osmoconformers from osmoregulators.

Wfley - 4/ SECTION - 4

GOILY : Semensg NamssEEsEn el weféseb. 2x5=10

Note : Answer all the questions. _
20. (1) paEpTEmLL datiEsmdr Wwgi@pramy elomg@sel mie CounLbsss.
RIS
(=) Garelled sramriLBID -2 arniGeun Asemer ellaréEs. ‘
(a) Differentiate the Chordate animals from non-chordate animals.

OR
(b) Explain the sensory receptors preseht in the skin.

21. () seuns wa_adHer LaflEar wreney ?

S(EV60G)
() s0&E sMm&asHean cuflemss e‘,]m;)mtrm B&peysemers &SNS, (FN&E @ng‘
Carlur®) :
(@) What are the functions of respiratory system ?
OR

(b) Enumerate the schematic presentation of muscle contraction (sliding - filament theory)

-000-




